T

» |E1 spiremmasies £ Character sz > EEAIHHERRESIE AR Characteristic

Max. & 48 Motor type —THEREETV N IEEEENHE - 3 Phase squirrel cage induction motor. ®
Output Full Load Character Starting Character Torque Inertia e Do St EEi= A BS EN12101-3 St HEE 1845 -
e R Tes FSIZET S BS5000 - BS4999 K AS1359 H1ZAMFHEK -
- . B EE =48 220V - 380V - 600V M F I KESERMEEYLES - The Energy Within
/ 2 eeelEge Standard Rated voltage for 220V, 380V, under 600V available for customer requirement.
2 3450 80 76.0 90.0 2.9 1.7 0.212 220 19 11 280 0.0051 N
20 5 = Frequency KAESAZE 50 or 60Hz ° Rated frequency 50 or 60Hz. .
1 0.75 | 4 1730 80 84.7 80.5 2.9 17 0.422 230 19 11 280 0.0100 e Jo— -~ & PN 3 & j* .
O %5 RS%EE Rated Time SF 1.0 CHBAHEERS In fire conditions) ; SF 1.15 (F R —A% @& FF In normal conditions)
6 1140 90L 77.0 64.0 4.0 2.3 0.641 200 19 11 230 0.0172
I 7B4% 5 4] Insulation Class H #4484 - H Class.
©
2 | 3460 90L 81.5 91.0 5.3 3.1 0.422 250 40 23 280 0.0110 8. BERE (°C) BRI (448 min)
// 2 15 | 4 1730 90L 81.5 76.0 6.4 3.7 0.845 220 40 23 280 0.0180 = 300 60
Q A BF ]
g 6 | 1140 100L 84.0 71.0 66 | 38 | 1282 | 180 | 40 | 23 220 0.0580 il EEAEREEE 300 120
= Temperature / Time Rating
2 3480 90L 82.5 86.0 8.1 4.7 0.616 250 68 39 280 0.0131 400 60
/ 3 22 | 4 | 1740 100L 85.5 80.0 8.4 4.9 1.232 210 68 39 260 0.0425 400 120
6 | 1140| 112M 85.5 74.8 9.0 5.2 1.881 180 68 39 230 0.0787 52 B Certification 138 TAF HIEE51% - Passed TAF testing.
2 | 3450 112M 85.5 90.0 126 | 73 | 1045 | 240 | 110 64 280 0.0450 fR#E7T{ Protection Enclosure  IP54 or IP55
5 | 37 |4 | 1750 112M 85.5 84.5 134 | 78 | 2.060 220 110 64 260 0.0720 80752 Method of cooling = ZRBAFRSIMNE R ANEL - Totally enclosed fanless cooling.
ot N . : A gaAE
6 | 1150 | 1325 85.5 775 147 | 85 | 3.135 180 110 64 230 0.1420 FEF5 = Mounting AEES (IM1001) : 7K I 22235 Foot Mounted.
2 | 3490 | 1325 86.5 85.0 196 | 114 | 153 | 220 | 160 | 93 260 0.0520 & I Power FSIZREERTE 600 A% (Z ) BUF -
The motor is suitable for use at voltages up to 600V (inclusive).
75 | 55 | 4 1770 132S 87.5 83.0 19.9 115 3.028 220 160 93 250 0.1120
3 AN 7B ER WhE , &t =N NN =Rl . TR glEn N n o
6 | 1150 132M 87.5 715 213 | 123 | 4.661 200 | 160 93 230 0.1190 = ERRERVAKE -SSR  REMEERIE  FROIZEE - HEREER
2] Ft Place Motor can exhaust high temperatures and dense smoke during building fires,
2 3510 132S 87.5 93.0 24.2 14.0 2.082 200 200 116 210 0.0680 J==| and can be utilized as a ventilation device during normal operation.
10 | 75 | 4 | 1770 | 132M 87.5 84.0 268 | 155 | 4.129 220 | 200 116 250 0.1450 =l = S Altitude EEEEE IS ELE 1000 AR (3300208 ) BT © Less than 1000 meter.
6 | 1180 160M 87.5 80.0 281 | 163 | 6.194 210 200 116 230 0.4150 j= 531753 Coupling Method PRIELES B #55&) - Fan-direct drive transmission only.
2 | 3550 | 160M 88.5 90.0 362 | 21.0 | 3.020 200 | 290 168 240 0.1530 W = 6515 Rootion Direc FEMEEY . GRESERE -« W56 -
3 = A2 B2 [0 Rotation Direction PN X g ! . X
15 114l 1770 160M 89.5 835 386 .4 6.056 220 290 168 250 03100 % Rotate in either clockwise and counter-clockwise, according to customer requirements.
. = 7 at . . .
6 | 1170| 160L | 885 830 | 393 | 228 | 9162 | 210 | 290 | 168 230 | 06140 sl U715 Stering Methods S REFRUEISL YIA RLED - Ful voltage starting or YIA starting
2 3520 160M 88.5 91.0 48.9 28.3 4.153 200 360 208 240 0.2080 g L 7 Bearing Type C3 ) FB R IR u# & MR AlE - C3 deep groove ball bearings & high-temperature grease.
= i o= == /B > . ol
20 | 15 | 4 | 1760 | 160L 89.5 85.5 514 | 298 | 8305 220 360 | 208 240 0.3940 El L 5 2 Torminal box HRMEASE  WEAMRELL ; EM 00 el -
5 Steel sheet material with cable inlet hole and available for 90°rotation.
6 1170 180L 88.5 85.5 52.0 30.1 12.49 200 360 208 220 1.0500 @ .
O #R Leads HO4AR 3~ 6 1& - IBEELRIHT © 3/6 leads, with terminals.
2 3520 160L 89.5 87.0 62.4 36.1 5.122 200 440 255 230 0.2370
FRZAEREEHEZMS R EERE  ERRET  BEDEFERSRTESE -
IR AR 1760| 180M 910 82.0 65.1 311 10.24 210 440 255 240 0.6540 #RE#8#Z Coil insulation The enameled wire used possesses excellent high-temperature resistance and chemical resistance
6 | 1170 200L 90.2 84.5 63.7 36.9 15.41 200 440 255 220 1.2150 properties,allowing motor to maintain its rated operation in high-temperature environments.
2 3520 | 180M 89.5 88.0 733 42.4 6.091 200 550 318 230 0.2830 : o
SFEt 2 Test Process e BS EN-12101-3 : 201.5 (Smoke-Bay-Test) A% Catalogue
30 | 22 | 4 | 1760 | 180L 91.0 83.6 759 | 439 | 1218 210 550 | 318 240 0.7150 According to BS EN-12101-3 : 2015 (Smoke-Bay-Test).
6 1170 200L 90.2 79.5 80.5 46.6 18.32 200 550 318 215 1.2630 . 3 A C —
2 | 3520 200L 90.2 915 954 | 552 | 8305 | 150 | 620 | 359 210 0.3220 F U KU T A® ° TR S gy
40 30 | 4 1760 200L 91.7 88.0 97.6 56.5 16.61 210 620 359 240 0.7680 L e £ pr =
6 1170 225S 91.7 87.0 98.7 57.1 24.99 190 620 359 215 2.3580 AEES %gu I E 1 g I E 3
NS = omm e T Bl T Fip T = ok s 1121 ) R TS
2 3545 200L 91.0 87.0 122.6 71.0 10.17 150 800 463 210 0.9050 > BRE / o R > STRE / REERM > SHEE . o
£ Yk T B A ST AT SR R - ] £k £ o 9 £33 £ AR 18 2\ Y V4 A
N - 5= %3 | ms | s | snge | oaas | cew | de - Bp— AT RBRIREMIRI A 6 5% | AEATTHEESIEN 185 A AT HEE YN 301 5 21 5% o 1 T
No 6. Tongke 6th Road., Tongluo Township, =~ No.18, Fenggoing S. Rd., Shen Kang Dist.,  No. 2-1, Ln. 301, Feng Chou Rd., Shen Kang l J 'm‘
6 1170 250S 91.7 84.0 126.1 73.0 30.82 210 800 463 210 3.1360 Miaoli County 366, Taiwan (R.O.C.) Taichung City 429, Taiwan (R.O.C.) Dist., Taichung City 429, Taiwan (R.O.C.)
Tel - +886-37-980799 Tel : +886-4-2515-9568 Tel : +886-4-2528-8833 H
2 | 3545 2255 91.7 90.0 | 1431 | 88 | 1237 | 170 | 910 | 527 220 1.0220 Fox © +886.37.980709 Fox  +886.4.9515.9538 Fox  +886.4.0508.3979 Smoke Extraction Motors
60 45 | 4 | 1770 | 225S 92.4 86.0 148.6 | 86.0 24.78 190 910 527 220 1.4320
o XX = = Jo PaN
6 | 1180 | 250M 924 83.0 1540 | 89.1 | 37.16 210 910 | 527 210 4.3250 > B ERF > HEERMN > BFRERED HARVTK
SEETELEZEIT "R 29 53 218 BEMRENAE 201 B 158118 T 556-0011 ABxAFARER 1R RX #EK
75 55 | 4 1770 250S 93.0 91 170.0 | 102.1 | 30.257 185 1200 695 220 2.4950 Tel : +886-3-3272909 Tel : +886-6-2098-236 2:10-707% Auld ) S— Z R 2T — 19 B
100 | 75 | 4 1775 | 250M 93.6 94.5 222.0 | 138.3 | 41.143 180 1450 839 220 4.6320 Fax : +886-3-3275158 Fax : +886-6-2085-402 Tel = +81-06-7662-8687
Fax : +81-06-6777-7941 www.fukuta-motor.com.tw

X 5 (Note) : IEBEEBET - M ABITEHN - All data is subject to change without prior notification.



> I E 3 HPAHEE BN R SERTYERR Character List

60 HZ o - 1 w (AD) o
|
M L= i v —i
. ax. . |z ~
Output Full Load Character Starting Character Inertia F i S £
Torque 7 S o
— —
- C t Amp. C t Amp. = = —= ~ R
Efficiency power Factor ol P Torque - Torque S % kg-m? AE E S % N §IJ 9 |\ J_j:é g : % ﬂm
% % 220V 380v  kg—m % 220V 380V = = N
@\ ! Jq .
2 | 3530 80 77.0 82.4 310 | 1.80 | 0.207 350 26 15 430 0.0071 i
1 |075| 4| 1750 | 80 85.5 74.4 3.09 | 179 | 0418 | 390 26 15 420 0.0120 I FOOT M O U N TE D e i L ) ‘ “ij
6 | 1145 | 9oL 82.5 69.6 343 | 198 | 0638 | 195 | 20 | 12 265 0.0192 68 3| £p Tl ﬁJLI U
} D+ o 4K
2 | 3500 | 9oL 85.5 84.3 546 | 316 | 0418 | 335 46 27 395 0.0130 & . =
#D
2 | 15| 4 | 1750 | 9oL 86.5 785 580 | 336 | 0835 | 325 51 30 385 0.0200 BH Tap bit Tap » Fig.2
6 | 1165 | 100L 88.5 68.6 648 | 3.75 | 1.255 170 44 25 270 0.0600
2 | 3500 | 9oL 86.5 856 | 7.80 | 451 | 0613 | 39 | 70 | 41 400 0.0151 w - . — © -
3 | 22| 4| 1770 | 100L 89.5 773 835 | 483 | 1211 320 75 43 330 0.0445 @ ‘ 7
6 | 1160 | 112M 89.5 72.2 893 | 517 | 1.848 170 57 33 265 0.0807 = N A= %L‘ = =
A = I E O, Q 3
2 | 3540 | 112M 88.5 92.0 119 | 690 | 1.019 320 120 69 385 0.0470 —= . E QUL = ‘ . = .
ED) i E E—
@ ®) B [ a © [ 5
5 | 37| 4| 1760 | 112M 89.5 87.5 124 | 718 | 2.049 225 110 64 325 0.0740 = I T} == 1 2 = = BEYE — 2 ﬁriwj ] @
6 | 1165 | 1325 89.5 78.7 138 | 798 | 3.095 | 185 | 105 | 61 280 0.1440 = _— 5
. . . . . . O & N — 3 o == . ‘
Eo i —— = il
2 | 3550 | 1328 89.5 86.0 188 | 109 | 1510 245 140 81 295 0.0540 — e, — x Jmm 1 1] YA f * \ s
: % % i i <} T F I 1T
75| 55| 4 | 1770 | 1325 91.7 84.8 186 | 10.7 | 3.028 | 250 | 160 | 93 310 0.1140 2 i It g ‘ i H e . n & tMi A ™)
(LE) B+0.5 & 1V 3 L AA ' ;BI N LE)(S BL0.5(S, R ]
6 | 1175 | 132M 91.0 76.2 208 | 12.1 | 4.561 230 170 98 345 0.1210 o 3 \F/ < et A£05 [ e ] LY. o Kt05 e ) ¢ 13 o 2205
2 | 3550 | 1325 90.2 89.5 244 | 141 | 2059 | 255 | 200 | 116 | 300 0.0700 . . /] = = A
10 | 75| 4 | 1778 | 132M 91.7 83.0 259 | 150 | 4.111 270 | 230 | 133 320 0.1470 . » Fig.3 Fotre > Fig4 e > Fig-5
6 | 1175 | 160M 91.0 79.1 273 | 158 | 6.220 240 210 | 122 285 0.4170 S , )
Specifications #31% B3 Dimensions R~I Shaft R ~F
2 | 3560 | 160M 91.0 89.2 356 | 206 | 3.011 235 280 | 162 285 0.1550
Output (HP i
15 11 | 4 1780 160M 92.4 82.5 37.9 21.9 6.022 245 290 168 275 0.3120 utput (HP) AB AC AD B BB © H HA HD K L LE SIS BT )
6 | 1170 | 160L 91.7 80.1 393 | 228 | 9162 | 250 | 320 | 185 290 0.6160 D E ED DH | Load Side | Opposite
2 | 3540 | 160M 91.0 91.8 471 | 273 | 4129 240 390 | 226 290 0.2100 1 1 - 80 1 125 38 155 175 93 100 130 50 80 9 166.5 10 235 45 19 40 35 6 155 | 215 | M6*16 | 6204ZZC3 | 6203ZZC3
20 | 15 | 4 | 1780 | 160L 93.0 83.4 508 | 29.4 | 8212 255 400 | 232 285 0.3960 2,3 2 1 90L 1 140 355 170 201 107 125 150 56 90 10 186.8 10 283 52 24 50 45 8 20 27 M8*19 | 6205ZZC3 | 6204ZZC3
6 | 1180 | 180L 91.7 80.8 53.1 | 30.8 | 12.39 280 340 | 197 300 1.3370 i 3 5 100L 5 160 45 196 217 15 140 175 63 100 125 41 19 3235 | 605 28 60 55 8 o4 31 | M10%22 | 620622c3 | 620572¢3
2 | 3535 | 160L 91.7 92.1 575 | 333 | 5.100 260 500 | 289 295 0.2390
5 5 3 112M 2 190 45 224 237 125 140 175 70 112 14 265 12 336.5 66.5 28 60 55 8 24 31 M10*22 | 6306ZZC3 | 6305ZZC3
25 | 185| 4 | 1770 | 180M 936 86.3 60.1 | 348 | 10.19 250 | 470 | 272 265 0.6560
6 | 1180 | 2001 93.0 624 34 | 367 | 1598 )10 s30 | 307 240 5 5600 7.5,10 75 5 1325 2 216 46 254 273 144 140 175 89 132 16 310 12 393 84 38 80 75 10 33 41 | M12*28 | 6308ZZC3 | 6306ZZC3
2 | 3570 | 180M 917 879 | 716 | 415 | 6005 | 225 | se0 | 324 | 280 0.2850 - 10 75 | 132M | 2 216 46 | 254 | 273 | 144 | 178 | 213 89 132 16 310 12 431 84 38 80 75 10 33 41 | M12*28 | 6308ZZC3 | 6306ZZC3
30 22 | 4 | 1775 180L 93.6 85.4 722 | 41.8 12.08 285 560 324 350 0.8100 15, 20 15 10 160M 3 254 75 300 326 176 210 256 108 160 18 373 14.5 527 99 42 110 105 12 37 45 M16*36 | 6309ZZC3 | 6307ZZC3
6 1185 200L 93.0 84.3 73.6 42.6 18.09 240 590 342 250 3.2380 25 20 15 160L 3 254 75 300 326 176 254 300 108 160 18 373 145 571 99 42 110 105 12 37 45 M16*36 | 6309ZZC3 | 6307ZZC3
AT et 92.4 84.6 e M 2 TN I 0 0.9070 30 25 - 180M | 3 279 80 | 355 | 381 | 203 | 241 | 297 | 121 | 180 | 20 417 | 145 | 577 | 105 | 48 110 | 105 | 14 | 425 | 515 | M16*36 | 6311ZZC3 | 6310ZZC3
40 | 30 | 4 | 1780 | 200L 94.1 81.4 103 | 595 | 16.42 215 831 | 481 250 1.5050
- 30 20 180L 3 279 80 355 381 203 279 335 121 180 20 417 14.5 615.7 105 55 110 105 16 49 59 M20*42 | 6312ZZC3 | 6310ZZC3
6 | 1185 | 2255 94.1 82.1 102 | 59.0 | 24.67 240 620 | 359 250 4.1970
5 | 3855 200L 93.0 89.0 117 67.9 10.14 170 960 556 205 0.9070 40,50 - - 200L 4 318 80 398 421.5 224 305 350 133 200 24 466 18.5 6725 | 1245 55 110 105 16 49 59 M20*42 | 6313C3 6212C3
4 2255 945 84.0 122 | 708 | 2020 160 870 | 504 260 2.7970 = 40 25,30 | 200L 4 318 80 398 | 4215 | 224 305 350 133 200 24 466 185 | 7025 | 1245 | 60 140 135 18 53 64 | M20*42 = 6313C3 | 6212C3
6 250S 94.1 83.0 124 | 720 | 3043 190 860 | 498 260 6.4850 60 - - 2258 4 356 945 | 453 472 251 286 354 149 225 30 526.5 | 185 688 143 55 110 105 16 49 59 | M20*42 | 6315C3 | 6213C3
2 2255 93.6 90.9 139 | 804 | 12.32 220 | 1000 | 579 260 1.2170 - 50,60 40 2258 4 356 945 453 472 251 286 354 149 225 30 526.5 | 185 718 143 65 140 135 18 58 69 | M20*42 | 6315C3 | 6213C3
4 2255 | 950 848 | 147 | 845 | 2457 | 160 | 1050 | 608 | 260 ) 2.7970 - 75 50 | 2508 | 5 | 406 | 104 | 501 | 518 | 279 | 311 | 425 | 168 | 250 | 37 589 | 24 | 8157 | 1967 | 75 | 140 | 135 | 20 | 675 | 795 | M20*42 @ 6316C3 | 6313C3
6 250M 94.5 84.3 148 | 858 | 37.01 185 | 1090 | 631 250 7.6960
= 100 60 250M 5 406 104 501 518 279 349 425 168 250 37 589 24 815.7 | 158.7 75 140 135 20 67.5 | 79.5 | M20*42 | 6316C3 | 6313C3
4 250S 95.4 87.9 172 | 100 | 30.03 190 | 1440 | 834 300 4.8340
4 250M 95.4 86.9 237 137 40.94 200 1870 1083 305 5.0350 Remark 1. Tolerance of Shaf t End Diameter :D’; @11~ 228 : j6 F38~ P48 : k6 D55~ P95 : m6 X HREERTENE  WERERFERBNEES KRR ASTEA - (All data is subject to change without prior notification.)
2. Tolerance of Shaf t Center Height “H” : +0 ~ - 0.5

X 5 (Note) : I EEESS

2T . ORDTEA -
All data is subject to change without prior notification.

www.fukuta-motor.com.tw



	2025富田電機-正面消防耐溫馬達型錄.pdf
	2025富田電機-反面消防耐溫馬達型錄.pdf

